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2y  0.68% (-2.8bp)
10y 151% (-4.0bp)

30y 2.23% (-3.4bp)
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¥z 0.52% (-5.5bp)
=9 -0.11% (-3.2bp)
matA  0.10% (-3.6bp)

O|Et2|oF 1.07% (-4.3bp)
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A4 © 0.94% (-5.5bp)

dg|a 8.08% (-2.5bp)
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DOW30 18495.66 (-0.20%)...
NASDAQ 5204.58 (-0.40%)
S&P500 217549 (-0.29%)

NIKKEI225 1673512 (-0.18%)

SHANGHAI 3018.75 (-0.23%)

FTSE100 6866.42 (+0.22%)

DAX30 10650.89 (-0.39%)
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CAC40 445201 (-0.36%)

SE2/28 11174 (+0.0059)

2/ 113.20 (-0.07)

e/ 101.26 (-0.58)

=e{/2Iet  6.6530 (-0.0064)
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WTI 4171 (-2.48%)

COMEXE 135190 (+0.40%)
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T AL 2044.64 (+0.04%)

TAAEF 707.46 (+0.96%)
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3y 1.215% (-3.2bp)

Sy 1.240%  (-3.2bp)

10y 1.391% (-3.6bp)

CcDh 1.360%  (Obp)

3y -1.5bp (+1.0bp)

Sy -3.0bp (+0.7bp)
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10y  -139bp (+0.1bp)

8. IRS/CRS & IRS= A& A =& 7I0 27t BAl &%L, s2l= MAAZY A5,
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Staf A ET HE OfH| Y=0| Zieu, & otz AW HEZL S2tel HEE A% K[ZE.
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1Y 1.2475% (-1.50bp)
2Y 1.2025% (-2.00bp)
3Y 11975% (-2.50bp)
5Y 1.2125% (-2.25bp)
7Y 1.2225%  (-2.75bp)

10Y 1.2525%  (-3.50bp)

1*2Y -450 (-0.50bp)
2*3Y  -050 (-0.50bp)
2*5Y 100  (-0.25bp)
3*5Y 150  (+0.25bp)
5*7Y 100  (-0.50bp)

5+10Y 4.00 (-0.25bp)

*CRS =2




IIS <2016 88 11 Al=>

1Y 1.2250% (Obp)

2Y 11200% (+1.5bp)
3y 1.0800% (+2.0bp)
5Y  1.0400%  (+3.0bp)
7Y  1.0200%  (+3.0bp)

10Y 1.0000%  (+2.5bp)
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